J.D. Rockefeller entered the oil refining industry in Cleveland, Ohio in the 1870s.  His company, Standard Oil (SO), slowly grew for about 8 years and then, once SO obtained about 40 percent of the Cleveland refining capacity, quickly achieved a monopoly position.

    
The petroleum refining industry was characterized by three stages of production – crude oil production, transportation of crude to the refinery and refining.  Each stage of the industry was characterized by relatively substantial fixed capital costs and very low marginal costs.  A northeast Pennsylvania oil field supplied the crude oil to the Cleveland refineries.  There were three alternative railroads that could transport oil to Cleveland.  

a.  Assume that crude production and refining were competitive and that the railroads had successfully colluded with each other to raise the transportation price to the monopoly level.  Under these conditions, describe how you would expect the prices at each stage of production to be determined.  

b.  Explain how that price structure might be altered once Standard Oil achieved a significant market share in refining in Cleveland.  Also explain what role this explanation might play in SO achieving its monopoly in refining in Cleveland.  In your analysis, consider the entry costs of other refiners and how the entry costs might constrain SO’s bargaining with the railroads.  Also consider how those entry costs might be impacted by selective predatory pricing (pricing below costs) by Standard Oil. 

c.  If the railroads had difficulty enforcing the collusive price because of their individual incentives to cheat, might bringing Standard Oil into the collusion assist in the maintenance of the collusive price?   

d.  The analysis of b. and c. above can each explain SO achieved a monopoly in Cleveland.  What evidence would you seek to discriminate between these alternative explanations of SO’s success? 

